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Lee = Tt + Tprop Lee = Tt + Tprop
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Tprop

1,005 s

Tprop — D / Vprop
Torop = 1000 Km / 200 000 Km/s = 0.005 s

Ti=F/ Vi
Ti= 106 bits / 106 bits/s = 1,0 s
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A 500 km R 500 km B

Lee= Tt + Tprop500 £ e+ Tprop500 Tt

I_ee = 2 X Tt + Tprop
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2b)

100 x T1p

Tprop500

Torops00

A som R

Tip

500 km B

T1p = 104 bits / 106 bits /s = 0.01s

Lee = 100 X T1p + Tpropsoo + T1P + Tprops00

I_ee = 101 x T1P + Tprop

1,015 s



1) A 1000 km B 28) A wmm R s 5
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Tt

Lee = Tt + TpropSOO + T+ Tpr0p500

Lee= 2 X Tt+ Torop

Tprop500
Lee = Tt + Tprop

2b) A 500 km R 500 km B

100 x T1p
Lee = 100 X T1p + Tprops00 + T1P + Tprops00
Tprop500 meem 10T e Tpmp
Tip
Tprop500




A 500 km R 500 km B
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I_ = #paCOteS X TT1p v Tprop500< 30k(1)
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L=1OOX(2XT1P+4XTprop500) \

L =100 x ( 2x0.01s+2x Tprop1000)
ack(2)
L = 100 x ( 2 x 0.01s+ 2 x 0.005s) |

L =100 x0.03 =
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igual para os demais pacotes



